12 FETAS RISk B OV A8 B =R —BE 3k P
(R - Hste, M/nf, %)

Pl fEEH LA [EE=: T3 &t
QHUEES HEL | PN | 294FEE | B0GREE | HUWER | PIOMR | 294RRE | B0GREE | HUER | PN | 294FE | B0GRHE | HuAUER | TSNS | 294RRE | SOGRHE | HusER | TS | 294RE | 304RHE
Rt 341 32,300, -1.0 -0.6 2/ 15,000 -1.8 -0.9 13} 82,100, -0.6 0.1 41 22,500, -0.8 0.0 53] 43,200 -0.9 -0.4
LA 28| 23,300, -0.5] -0.5 2 7,300 -1.4 -14 8/ 55,500/ -0.3, -0.1 31 20,900, -0.3] -0.3 41, 28,600, -0.5/ -0.5
NF 35/ 32,800, -0.9] -0.6 2/ 11,400 -1.6/ -1.3 10} 64,300, -0.9/ -0.5 41 26,200 0.0 0.0 51 37,600/ -0.9 -0.6
Bt 5/ 11,000, -2.2/ -1.2 17 5000 -3.8 ~-1.0 2/ 18,500/ -1.9, -14 1] 14,400, -2.7 - 9| 12,400 -2.3] -1.2
EnG 0 11} 10,100} -1.6/ ~-1.3 17 4,800, -2.0, -1.0 428,200, -1.4] -1.3 11 5,000 0.0 0.0 17/ 13,800, -1.5, -1.2
i | R 9/ 12,300, -0.5 -0.6 17 5800, -1.7 -17 516,900, -1.0, -1.1 14,2000 -2.3] -2.3 16/ 12,900, -0.9, -0.9
=it 5| 13,500 0.0 0.0 1} 5,500 0.0 - 2/ 29,600 0.0 0.0 1 10,100 0.0 0.0 9| 15,800 0.0 0.0
[iseh] 13| 9,400, -2.6/ -2.3 0 - - - 6/ 17,700, -2.9 -2.6 2/ 5200 -2.8 -10 211 11,400 -2.7, -2.3
DORDHT 11, 6,700, -2.1, -1.6 0 - - - 3| 11,100 -2.4| -2.2 0 - - - 14| 7,600 -2.2, -1.7
Tt 7/ 7,800 -2.0 -1.6 0 - - - 3| 14,400, -1.4| -0.9 0 - — - 10| 9,800, -1.8/ ~-1.4
B 158| 22,100 -1.2| -0.9 10; 8,800, -1.7| -1.2 56| 47,000 -1.1] -0.8 17{ 17,700, -0.9| -0.4 241| 27,000, -1.2| -0.8
SFPIHET 2/ 9,300 -1.6 -1.6 - - - - 1) 18,000, -2.1} -2.2 1 3,900 -24 -25 4/ 10,100 -1.9/ -2.0
4| ARINT 2| 5500, -4.4| -3.3 - - - - 1) 8,700, -4.2| -4.4 0 - - - 36,6000 -4.3 -3.7
% TE A 2| 5300, -1.9 -19 - - - - 0 - - - 0 - - - 2/ 5300, -1.9 -1.9
B g iy 5000, -2.2| -24 - - - - 2/ 7,800, -1.9 -1.9 0 - - - 8/ 5700, -2.1] -2.3
B 12| 5,900, -2.4| -2.3 - - - - 41 10,600 -2.5| -2.6 1] 3,900 -2.4| -2.5 17| 6,900, -2.4| -2.4
g | BB YT 3/ 11,800, -2.0, -2.0 - - - - 1 18,800, -2.0, -2.1 1 6,400 -1.5 ~-1.5 5/ 12,100/ -1.9, -1.9
E TRIHTHET 6| 4,900, -2.7, -3.0 - - - - 112,500, -3.0, -3.1 0 - — — 7/ 6,000 -2.8/ -3.0
B B 9| 7,200, -2.4| -2.6 — — — — 2| 15,700| -2.5{ -2.6 1 6400 -15 -15 12, 8,500, -24 -25
; ¥ H AT 2| 2,700, -2.6/ -1.9 - - - - 0 - - - 0 - - - 2/ 2,700/ -2.6, -1.9
g B 2| 2,700, -2.6/ -1.9 — - — — 0 — — — 0 — — — 2| 2,700 -2.6/ -1.9
FRRIFTHT 7/ 11,500, -1.6/ -0.6 - - - - 2| 14,400, -1.7, -1.5 0 - - - 9/ 12,100, -1.6/ -0.8
E KAEHT 3| 8,200, -2.4| -24 - - - - 1/ 16,100, -2.4| -2.4 0 - - - 410,200 -2.4| -2.4
?ﬁ A& REAT 2| 6,7000 -1.5/ -1.5 - - - - 110,200, -2.8, -1.9 0 - - - 3/ 7,900, -1.9 -1.6
G 12| 9,900, -1.8] -1.2 — — — — 413,800 -2.2| -1.8 0 — — — 16/ 10,800, -1.9| -1.4
HEAET 2/ 10,900, -1.9 -1.9 - - - - 2| 14,500 -2.4, -2.1 0 - - — 412,700 -2.1] -2.0
?;E AT 2/ 10,300, -1.4, -1.0 - - - - 113,200, -2.2/ -1.5 1 9600 -2.0 -1.0 410,800, -1.8) -1.1
;TJE AT 7| 6,500 -2.9/ -2.3 - - - - 2/ 11,000 -3.0, -3.1 0 - - - 9/ 7,500 -2.9/ -2.5
Bt 11) 8,000 -2.4| -2.0 - - — — 5| 12,800 -2.6| -2.4 1 9,600, -2.00 -1.0 17| 9,500, -2.4| -2.0
7520 H Y 2/ 12,300, -1.8/ -1.6 - - - - 118,800 -2.6/ -1.6 1 5100 -1.9 -1.9 4/ 12,100 -2.0/ -1.7
2l 5/ 8,200, -2.2/ -1.0 - - - - 2/ 14,000 -1.8, -1.3 1 6,600 0.0 0.0 8/ 9,500/ -1.9/ -0.9
Ll 3| 4,900, -2.0/ -2.0 - - - - 111,900, -3.2] -2.5 1 3,100 0.0 0.0 5 5900 -1.8/ -1.7
ié i v 2| 6,100, -1.6/ -1.7 - - - - 110,300, -2.8, -2.8 0 - - - 3| 7,500 -2.0 -2.0
A HALET 5/ 6,900, -1.9 -2.2 - - - - 2/ 12,200/ -2.3) -2.0 1 2,400 -2.0, -2.0 8 7,700/ -2.0, -2.1
N piTkE 4, 6,700, -2.6/ -2.6 - - - - 110,100, -1.9, ~-1.9 0 - - - 5 7,300 -2.4| -2.5
FBU oA 7/ 10,200 -0.2) -0.2 - - - - 2/ 22,800 -1.5, -0.6 0 - - - 9/ 13,000, -0.5/ -0.3
# 28| 8,000f -1.6/ -1.4 - - - - 10| 14,900, -2.2| -1.6 4] 4,300, -1.0, -1.0 42| 9,300| -1.7| -1.4
KFET 2| 4,100 -3.4| -2.9 - - - - 111,600, -4.0, -3.3 1 3000 -1.6/ -1.7 4/ 5700/ -3.1 -2.7
v AT 2| 2,500 -2.0, -2.0 - - - - 1 5200 -1.9 -1.9 0 - - - 3| 3,400 -1.9/ -2.0
b E A 3| 4,400, -4.2| -2.2 - - - - 110,200, -3.7, -1.0 0 - - - 4/ 5900/ -4.1 -1.9
" PeIPRE 2| 4,900, -3.8/ -4.0 - - - - 1 7,400, -4.9, -39 0 - - - 3| 5700 -4.2/ -3.9
# 9| 4,000 -3.4| -2.7 - - - - 4] 8,600] -3.6/ -2.5 1 3,000, -1.6/ -1.7 14| 5,300, -3.4| -2.6
=R 2| 14,600, -1.4, -0.7 - - - - 117,500, -1.7, -1.7 0 - - - 3/ 15,600, -1.5/ -1.0
Eval) 4, 8,600, -2.2| -1.1 - - - - 118,800 -2.1, ~-1.6 1 4,600 -2.1 -1.1 6/ 9,6000 -2.2/ -1.2
~ FH7-l7 4, 6,700, -1.9/ -1.9 - - - - 112,400, -2.3 ~-1.6 0 - - - 5 7,900 -1.9 -1.8
i FEHHT 8/ 10,100 -1.7) -0.9 - - - - 316,600, -2.0 -1.2 1 2300 -21 -1.3 12/ 11,100, -1.8/ -1.0
" P LT 4, 7,900, -1.5| -1.5 - - - - 115,400, -2.5 ~-1.9 0 - - - 5 94000 -1.7 -1.5
BT 2| 4,0000 -1.8 -1.0 - - - - 1 6,900 -2.8 ~-1.4 0 - - - 3| 5,000 -2.3] -1.1
at 24| 8,800, -1.8/ -1.2 - - - - 8| 15,100{ -2.2| -1.5 2| 3,400 -2.1} -1.2 34| 9,900, -1.9] -1.2
gt 158/ 22,100 -1.2] -0.9 10| 8,800, -1.7] -1.2 56| 47,000/ -1.1 -0.8 17/ 17,700, -0.9, -0.4 241, 27,000, -1.2 -0.8
LIRSS 107/ 7,600, -2.1} -1.7 0 - - - 37, 13,400, -2.4, -2.0 10] 4,700 -1.6, -1.3 154 8,800/ -2.1, -1.8
W& 265| 16,300] -1.5| -1.2 10| 8,800, -1.7] -1.2 93} 33,600, -1.7; -1.3 27/ 12,900 -1.1} -0.8 395| 19,900 -1.5| -1.2
HE (HD 142] 16,900, -1.5| -1.2 6/ 9,0000 -2.0 -1.1 48, 40,200, -1.4; -1.1 12/ 16,000 -1.1, -0.5 208, 22,000, -1.5] -1.2
A (552) 123/ 15,600 -1.5| -1.2 4, 8,500) -1.2] -1.4 45, 26,600, -1.9/ -1.4 15/ 10,400, -1.2, -0.9 187/ 17,700/ -1.6, -1.3
HEN 174| 21,700, -1.1} -0.8 10; 8,800, -1.7] ~-1.2 68 42,2000 -1.3] -0.9 25/ 13,700, -1.1, -0.7 277, 25,500, -1.1] -0.8
#Watsh 91| 5,900, -2.4| -2.0 0 - - - 25/ 10,400/ -2.7, -2.3 2/ 2,600, -1.9 -15 118/ 6,800/ -2.5/ -2.0




